A4

| BEE4S |
T2 5%E BmARHFHE () ITDOWWT
BAXEFE (BT M)
1] = ¥ B #§B B A
4 A 11,902,800
% H 11,902,800
= 5| 0
4 A (B FM)
3 5 = & & B A
=Eick =Eick =Eizk 11,299000|&H-LERBEHE
T e Rue 603,644
ERURA HA A 156
% A = B 11,902,800
% H (BEfHL:FM)
3 5 = £ % B A
EEE | 23E | 23 409,000
EBE | BHE 20,000
g% | BB | 5B 11,473,800\ &[5 BB HETRIES o
% H & B 11,902,800




FH25FE BRARHFPRAME (R)

% A (B4I:M)
E3 15 B & FELE T
HEsB{EE  400,000M
= = £ 8 & | AhmAEE 7,666,000| & A8 HBETEIES 7,266,000/
GEFTIZRAINE R E RAREMD2/34H 2458)
SLRBEHEKETEES  3,633,000M
EERAMEE| 3633000 g7 %R R BARED /348 L5
N 11,299,000
B o I BB e |AEERES 603,644
® O A = <3 A <3 A 156
m A S 11,902,800
% H (Bfr:M)
£ i | B 0] FEEE A iR
- " %% 10,000 10 A x 3[E]
EER|2RA | 2ER ) FRR 330,000\ & it BARGERS 10000M X 1A x3E
BiES EE 10,000 x 3[E], B 1,300 x 3A x 3[@
i3 & 49,000\ & LB BBTETEAES
3Z@EE 1,000M x 1A x3[E], H21,300H x 1A x3[EH
TR B 30,000|&mEBER S
N 409,000
E-N I £ K B i3 5,000
£ 5,000 |4 M &
& % 5,000|:@/5E M E
& # 5,000| A #E B BITHE
N E 20,000
T x B T %X B E-N m1E & 30,000
i3 % 50,000
EERE HRIANES
w R R 494,800 (8 i e ete m - 2 KRB RE A D)
BLEEEGETAES
8 HE & | 10899000 ms - r2n% R e LA
INE 11,473,800
A= 11,902,800




